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AYZEIZ
MEPOZ A’

1. | y=7x*-2x+5

b _ax—2
dx

3.
160-£=€40
100

160 - 40 = €120

(x—3)2+y2 =2°
X’ —6X+9+y’ =4

X*+y’ —6x+5=0




1
OUVX = —
2

OuUvVX = ouv6e0°
X = 360k + 60°
k=0 x=60°

k=1 x=300°

MAGHMA M, M, A /A, O H

|
M; 6

f= =180

2121

_ACA M, M, ©, H
|

ME =2 = 60
2!

X+y =7 =

x2-2y=1 }

y=7-X =

X2 - 2y =1 }

X2 - 14 + 2x -1=0
X2 + 2x -15=0
(x+5)(x-3)=0
x+5=0 = x=-5
x-3=0 = x=3

Av x=-5 = y=7-(-5) =y=12 (x,y)=(-512)

Av x=3 = x=7-3 =x=4 (x,y)=(3,4)




OM=10:2=5m

U2 =h? — (OMY?

u? =13% - 52

u2 =169 -25

h? =144 > h=12m

a) 50 pobnTtég
B) 45 padbnrég
y) 120 - (50+45+15) = 10 pabnTég

5) 12 .100=12,5%
120




10.

P(A)-P(B) = P(A ~B)

Apa A, B avet¢dptnta evdexoueva




MEPOZ B’

a) 1500.90=€135000

B) 2100.90= €189000
v) Képdioe: 189000 -135000=€54000

54000

5) x =% 400 - 40%
135000
2.
X — X _x)? Y
Xi fi X; fi 1 (XI X) fI(XI X)
0 5 0 -2 4 20
1 11 11 1 1 11
2 10 20 0 0 0
3 9 27 1 1 9
4 3 12 2 4 12
5 2 10 3 9 18
40 80 70

a) H emkpatovoa TipA givar: x, =1

B) H péon miun civau:
- 2Zfx 80

X = - = 2
>f 40

y) H TUTTIKr} atrokAIon €ivai:

f(x, -x) 10 =
e it I i A I 1,75 ~ 1,32
T x 40
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(Jt)j(x3 —i3+2jdx:xf+%+2x+c
X X

B) y=x+nux+ouvx

%:chvx—nux
ﬂ = —NMUX — OUVX
dx?

2
d—32/+y—x:—npx—ouvx+x+r]px+ouvx—x:0
X

a)
I
1" piym 2" piym 3% piym
K
K < r
K < ©
r <F
K
K < r
r < «
r < N

Q = { KKK, KKTI', KTK, KI'T, TKK, KT, 'K, I'TT" }

1.
A= {TTT, KKK }

B={ I'TK, KT, KI'T }

B) PA)= [ ==
NEB) _3

"B o) s

1
4 )

Amotéleoyo.
KKK
KKTI
KI'K
KIrr
I'KK
rKr

I'rK
rrr




ZXnua:

4 cm

ElMl=7-4 =3 cm

(BI)*=(BE)*+(El)?
(Br)?= 42 + 32
(Br?=16+9
(Br)?= 25
(BMN=5cm

2ToIXEi0 KUAivOpou
R=7cm

u=4cm

2 TOIXEiO KWVOU

p=3cm
A=5cm(I1.0)
u=4cm

EoA = EK.KUAivdpou + EK.kwvou + EkUkAou + EdakTuAiou
EoA = 2mRu +1pA + TR? + ( TR?— 1rp? )
=274+ 35 +m 72+ (m7°—13?%)
= 561 + 151 + 491 + 4011

= 1601 cm?




VoA = VKuAivdpou — Vkwvou

-mRey- TP

3
_n 724 m3°-4
= 1961 -121T

=184 cm®




